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1) The service provided by IPX is (IPXU O O 0O O O)O A.
Guaranteed delivery B. Datagram C. Connection-oriented D.
Sequenced 2) The Transport Control field in the IPX header holds
what information? (IPXU O OO OO OO O0O0Oooooon)
[ A. The age of the packet. B. Protocol type C. Router hop count
D. Level of service required. 3) What is the length of an IPX network
number (IPXU OO O OO OO O O)O A. 16 bits B. Variable C.
48 bits D. 32 bits 4) In the IPX address 0102.0000.8045.1700, what is
the nodeaddress (J IPXO O 0102.000.8045.170000 O
OO0O0000)d A.1700B. 0102.0000.8045 C. 0102.0000 D.
0000.8045.1700 5) What can you say about this address:
47.0000.0000.0001 (U0 0OOO 47.0000.0000.000100O
00O 0)0O A.ltisthe address of a NetWare print server B. It is an
Internal network address C. The included socket number is 0001 D.
Nothing 6) The Checksum field in the IPX header is normally set to
(IPXOOOUOODOOOOOOOOO0)d A.Achecksum of the
entire IPX packet B. A checksum of the IPX header fields only C.
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